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MEC-006 : PUBLIC ECONOMICS 

Time : 3 hours 	 Maximum Marks : 100 

Note : Answer questions from each section as directed. 

SECTION I 

Answer any two questions from this section in about 
500 words each. 	 2x20=40 

1. What do you understand by Public Good ? What 
is its implication on market failure ? Distinguish 
between public goods and merit goods with the 
help of examples. 

2. Explain why welfare losses from centralized 
provision increase with heterogeneity in tastes 
and preferences across localities. Explain why 
centralized provision is a better policy in the 
presence of economies of scale. 

3. What do you understand by 'public intervention' ? 
When and how should the government intervene 
in a mixed economy in a globalisation era ? 

. What are the internal and external sources of 
public debt ? What ways should be adopted for 
redemption of each of them ? 
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SECTION II 

Answer any five questions from this section in about 
300 words each. 	 5x12=60 

5. Explain Bergson-Samuelson's Social Welfare 
Function and differentiate with Rawls' or 
Bentham's Social Welfare Function. 

6. What do you mean by 'special interest groups' ? 
Explain briefly how they influence the policy 
process. 

7. (a) Describe the concept of horizontal equity in 
your own words. 

(b) Explain Nozick's theory of justice. 

8. How does the imposition of a direct tax distort 
the allocation of time between labour and 
leisure ? 

9. What do you mean by welfare gains ? Discuss 
the welfare gains of decentralisation in terms of 
Tiebout model. 

10. What are various methods adopted for pricing a 
utility service ? When does a public utility resort 
to 'block pricing' ? 

11. What is 'free-rider problem' ? How does it appear 
in the context of decentralisation ? 

12. Write about the relationship of price level with 
debt management. 
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